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oFS N FSH 3 3 ofshY 60 2] 719k B A B o,
EFA7F 45kg 014 50kg PIREQ] SHYE2] 7]9] B-Z A EA Aol A
HhE§lsto] oo,
e [30~35 | 35~40 | 40~45| 45~50] 50~55 | 55~60 | &7
170°~ 175 1 1
165 ~ 170 3 1|4
160 ~ 165 2 3 2 |7
155 ~ 160 3 7 2 |20
150 ~ 155 9 6 3 18
145 ~ 150| 2 4 4 10
A 2 13 18 8 13 6 | 60
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o= sto] sy 60 goll et et G A3} A Wt o] ol A
FANH A+B+C+D 9 & FsHH?

281 (A)|26% | 80 | 40 | 50 | 60 | 70 | 80
B2 | 36 40 | 50 | 60 | 70 | 80| 90|
90~100" 1 1
80~ 90 2 |A|10] 115
70~ 80 4| B|C| 6] 1]24
60~ 70 1|D| 3|4 17
50~ 60 2 2
40~ 50 | 1 1

Z 1|1 |15]10|14]17] 2|60

® 12 @ 15 3 17 @ 22 ® 24
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